
 

 

Answer on Question #50734 –Math – Analytic Geometry 

Find the direction cosines of the perpendicular from the origin to the plane  

𝑟(6𝑖 + 4𝑗 + 2√3𝑘⃗⃗) + 2 = 0 

Solution 

Equation of the plane is 

𝑟(6𝑖 + 4𝑗 + 2√3𝑘⃗⃗) = −2 𝑜𝑟 𝑟(−3𝑖 − 2𝑗 − √3𝑘⃗⃗) = 1 

which is of the form 𝑟 ∙ 𝑛⃗⃗ = 𝑑. A normal vector to the plane is  

𝑛⃗⃗ = −3𝑖 − 2𝑗 − √3𝑘⃗⃗. 

A unit normal vector to the plane is 

𝑛⃗⃗

|𝑛⃗⃗|
=

−3𝑖 − 2𝑗 − √3𝑘⃗⃗
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𝑘⃗⃗. 

The direction cosines of 𝑛⃗⃗  are −
3

4
, −

1

2
, −

√3

4
. 
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